Word Problems

Multiplication

I. Daisy has a filing cabinet with 3 drawers. She ploces 12 files in eoch drawer. How many files are in

the cabinet altogether”?

2. Cal wants fo replace the sails on each of his & windmills. It each windmill has 4 sails, how many

new sails will he need to buy?

3. Sunflower seeds are sold in packs of 11. Jack buys 8 packets. How many seeds does he get in all?

oEAR

4. Nathalie wants to make 6 cakes for a party. Fach cake needs 4 eggs. [n total, how many eggs will

she need?

Q&

5. Craig buys O tins of paint. If each tin contains 8 litres, how many litres of paint did Craig buy in
all?
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Word Problems Answers
Multiplication

1. Daisy has a filing cabinet with 3 drowers. She places 12 files in each drawer. How many files are in

the cabinet altogether?

36 files -

2. Cal wants fo replace the sails on each of his & windmills. It each windmill has 4 sails, how many

new sails will he need to buy?

20 new sails

3. Sunflower seeds are sold in packs of 11. Jack buys 8 packets. How many seeds does he get in all?

oEAR

88 seeds

4. Nathalie wants to make 6 cakes for a party. Fach cake needs 4 eggs. [n total, how many eags will

she need?
GRS

24 eggs

5. Craig buys O tins of paint. If each tin contains 8 litres, how many litres of paint did Craig buy in
all”?

40 litres of paint
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